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#include <stdio.h>
int main(void)
{
inti,s;
s=);
for(i=1:i<=10:i++){
s=Q)+i:
}

printf("s = %d ¥n",s);
return 0;
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#include <stdio.h>
int main(void)

int 1,;

for (=1;i[ @ ]5] @ ){

forG=1;1<=[ @ [ @ D{
printf("*");

\ | ® |

return 0;
}
@ ANS[ <= ] @ ANS[ i++ ]
® ANS[ i ] @ ANS[ j++ ]
® ANS.[  printf(“¥n") ]

#include <stdio.h>
#define NN 5
i{nt main(void)
int i,m.d[ (1)]1={786,386,831,23,865};
m= \&/;
for ( i=l;i<§N;i++){
if(m (3) d[i]){
m=d[i];
}
1
printf("MIN = %d ¥n",m);
_} return (;
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#include <stdio.h>
int main(void)
{
int 1, j,ans;
printf("#H 17 B JLILD hyou¥n");
for (=11 @ P;i++){
@ |G=1;j<=9;j++)
ans=| 3 |
printf("%3d ", @ |;

}
printf("l ® [");

return 0;
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3 4 5 6 7 8 9
6 8 10 12 14 16 18
9 12 15 18 21 24 27
12 16 20 24 28 32 36
25 30 35 40 45
12 18 24 30 36 42 48 54
14 21 28 35 42 49 56 63
16 24 32 40 48 56 64 72
18 27 36 45 54 63 72 81
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TBL(1) 31
TBL(2) 52
TBL(3) 62
TBL4) |75
TBL(5) 32
TBL(6) 88
TBL(7) 26
TBL() 93
TBL(9) 75

|| TBL(10) |49

BER
7 M=KEY

4 TBL(M) # KEY
7 TBL(M)=KEY

T C=0
“HsF-yhL F C#0
Lo B C+M—C
¥ C+1—C

| 7 C+TBL(M)—C

@ANS.[ 7 J@ANS[ * I®ANS[ = ]
*1 int TBL[11]
*2 c=0

*3 (v b :sTHE 3, )scanf(“%d”,&key)

*} (v b fclaxd, )
for(M=1; M<=10 ; M++)

e )
shikenl[i] & shiken[j]& ANEZ 2B TH 3,
SERREH &,

; work = shikenl|i];

shiken([i]&
shiken j] % (4) =shikenl[j];
shiken[j]=® :
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@[ shikenli] ]
G work ]
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: [ 3 _l=aln];

a[n]fa[nJrl];
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